XYZ,,=85.53, 90.0 , 98.0 By Parame-
A=25@-a1p)Y ter: N
B1=2,58 (by - by ) Y

ay = [(x—xa)y]

by = by [2M] y

ay0=1,byp=-0,4 Gin i Rm

X = 0,110,8, = 1,000 AL
n = D65,xyy=0.312 , 0.329 +
Cap 1=[AP+BAY2 100

Name & Spektralbereich

Ry 570770 ¥, 520_770°M
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 -
G,520_570 N, 570_520 By ymin
10 Optimalfarben (0), Y,,=90, Y\=3,6

8 von maximalem (m)Cyg fir D65 =100 max: 490 _770

XYZ\=86.78 ,90.0 , 74.24
A1=25@1-a;n)Y

By = 2,58, (b - by ) Y

ay = g [(x—xc)y]

by = bzoéZM
80=1,b0=-0,4

X¢ = 0,110,8, = 1,000 Gin

By Parame-
100 ter: N

n = D50,xy,y=0.345 , 0.358
Cag,1=[A+BAM?

Name & Spektralbereich Gy
Ry 570_770 ¥, 520_770
Gm 470 570 G, 380_570
Bm 380 520 M, 570_470 B
G, 520_570 M 570_520

10 Optimalfarben (0), Yyy 10790, Y\=3,61
8 von maximalem (m)Cpg fur D50

~100 max: 495 _770

n = P40,xy,,=0.379 , 0.376 {1+ }
Cag 1=[A+BAY?

Name & Spektralbereich G
Ry 570_770 ¥, 520_770

G 470_570 G, 380_570

Bm 380 520 M, 570_470
Go520_570 M 570_520

10 Optimalfarben (0), YW—QO, Y\=3,6 1
8 von maximalem (m)Cpg fiir P40
in Buntwertdiagram (A, B

B

~100 max: 495 _770
min: 380_495

in Buntwertdiagram (A;, By) min: 380_490 in Buntwertdiagram (A, B;) min: 380_495
egtoo-1a egto0-2a
XYZ,,=90.83, 90.0 , 58.22 By Parame- XYZ,,=98.86 , 89.99 , 32.02 By Parame-
A=2561-a)Y T100 ter: N Aj=256;-a,)Y T100 ter: N
By =2,5B (b by ) Y By=2,5B (by—by ) Y
ag = a0 [(x-X)] Y ag = ag0 [(x-Xxc)y]
by =y [2/M] a3 by =byo [z T
ayo=1,by=-0,4 J ay=1,b,g=-0,4
Xc=0,110B8,=1,000 Gm ® P40 Rn A1 X¢ = 0,110B, = 1,000 &ﬁ‘%/

n = A00,xyy=0.447 , 0.

Cag,1=[AS+BAM?
Name & Spektralbereich
R 570_770 ¥, 520_770 Bm
Gm 470570 G, 380_570 1
Bm380 520 M, 570470

Go520 570 M 570 520

10 Optimalfarben (0), Y;4=90, Y\=3,6 1

8 von maximalem (m)Cyg fiir AOO
in Buntwertdiagram (A, B

=100 max: 500 _770
min: 380_500

egt00-3a

egt00-4a

egt00-3n




